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‘M (200) nmma F(t) =2costi +3sint j +tk 2.16

z=x*
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MNINY Dapn Pwnn v Nav NP ’en T (t) =27 +t T+5l2 mpy Yy .17
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r|(dr| dr = - . - —
M — |, = mxonwn F(t)=cos2ti +sin2t [+t k vy .18
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mynnn NN avn . () =2cost i +3sint T+ 4tk NPYN TNNRD DY) NTP) .19
=712 yova T(t) nownn ()
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F(t)=In(t? +1) 7 +arctart j +vt? +1K
YNNI PIN 29O W PO .21
(0 >0) F(t) = (cosx coswt)i + (sina cosmt) | + (sinwt)k
(W) LIV@E) ) yndw oo W(t)  nsxn, V(E) momm nnxen
mponn t=0wma.V(t) = (2-1-10) pnnsed mnwn ppon Sv V(t) mynn .22
.pponnYw T =T (t) nynn nxmwn nxxsn . 1 (0) = (00100 n1pra xym
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N tga prn punn MoPY avn .25
F(t) = (sint,e',t?),t, =0 125
r(t) = (2In(t +1),t?,05t%),t, =1 225
(R>0,w>0) r(t)=(Rcoswt,Rsinmt) nynnnpin »05y ppon 26
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lr=2 2r=0,0<0<4r 3.r = 2(1+ cosp) 4r=1/0 057 <0<3r

5r=2/cosf 6.r=2/sind T7.r=2sind 8.r =2cosH 9.r =2(1-cosh)

:INID MNXNYND TPIAVIP MOPTHINRPI OIWI

10. x=3 11.x2+y2:4x 12y=5 13.x2+y2:3y 14.x+2y=5 15.x2+y2:9
16. (x2 + y2)2 =4xy 17. y2 =4x 18 (x2 + y2)2 :8(x2 - y2)
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19.r =2cosf® 20.r=3/sin@ 210=x12 22sinf=rcos’d 23.r°cos2d =tand
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NF (t)=ti +sintj,—o<t<ow 10)F(t)=8cos’t i +8sint j ,0<t<2x
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15 7/(t) = 22 5 (asingt - cos3t) T+
cos’ 2t t
X=2 x=1+2t
16.)7 = (320)+ (11252)t 16.2y=3t 163){y=1+t 17) M (935)
z=t z=1+4t
_ _ _ ' 3
18 F'(t) =-2sin2ti +2cos2t j +2tk,  |F'®)|=241+t2, (|F(®)]) =\/2t—4
1+t
19 F'(r 12) =27 + 4k F'(z12)=-3] 20) Z(F'(0),F"(0)) =7 /2

2)V(t)=w(cosa sinmt,sinasinet,coswt),|V(t) | @
W(t)=-w?F(t), [W(t)|= o0
22)F(t) = (2t,—t,-5t% +100) 23)r(t) = (4—2cos3t,2sin3t — 4t ,4t +1)
24) V(t) = Vo1, Vo2, Vo3 — 9 1), W(t) = (00,-9),|V(t)|= \/\702 —2Vp3 gt + g’t® W) g

(L10) 12,0
25.1) —\/E 25.2) —\/6
26) V(t) = Ro (- sinmt, cosmt) , Wi(t) = — w7 (t) ,|V(t) |= Ro, | W(t)|= Re?,
\:/(t) =(-sinwt,cosmt), ﬂ:—(coswt,sina)t)
V()] | ()|

27.8)(F(Y)- PO) =F'()- PO +TF®)- P B (FOF®) = 'O T+ FOF()
O(FEW)=2r() ') d) () x pW) =T"(®)x BEX) +T(©) x ')
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(F'®)x P®)-h )+ F®)x p'@®)-h () + (FE)x ) -h' @)
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10)r=3/cosf 1)r=4cosd 12)r=5/sind

13)r =3sind 14)r =5/(cosf + 2sinf) 15r=3
16)r? =2sin20 17)r =4cosfd/sin>6 18)r? =8cos20
19 x*+y?=2x 20) y=3 2)x=0 (y>0)

22) y=x> 23 x*-y’=ylx
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